Quiz 6
11/14/2018

Name:

Instructions: Show your work. Circle your final answers. The quiz has two pages.

1. Consider a basis S = {v1, v2, v3} of R where

1yt u = (2,6,5)
V2 = (5, 3, —2)
v3 = (7a 47 _3)

Set up a formula to compute the coordinate of vector b = (2, 3, 1) in basis S. (You don’t
need to compute matrix inverse or matrix multiplication. Only set up a correct formula for

[b]s.)

2. Consider the matrix

9 Pt (a) Compute det(A — Al2).

Ack (A-21,) = | 17‘ ;_A\ = GABN-L= RS



gbb) Compute the eigenvalues of A. Label them by A1 and Ay such that A\ < As.
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(¢) Determine E(\), the eigenspace corresponding to A\;. Determine a basis and the dimen-
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+ (d) Determine E@l), the eigenspace corresponding to As. Determine a basis and the dimen-
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